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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot Sensor and FgRec Data
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Plot [['1", "lopt’], ['T", "Topt’], ['RH", "RHopt’], [ ETcl’, ’optETcl’], 'LAl’, ’optEtRate’]
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P3-15

BriE) | EBIETK FD) | EE (EH/HK) | XK ERE

01:00 146 60. 0 i BRi%@01:00 (K PHIERLSE)
02:00 146 60.0 R 1RRi1%@02:00 (K FH{ER%=2)
03:15 146 60.0 (= FnH#Ae03:15 (KRFEERES)
06:45 146 60. 0 i FiEA@06:45 (K BIERSE)
08:55 146 60. 0 i ¥nH#Ae08:55 (KRF{ERLEE)
10:10 146 60.0 i FEA@10:10 (KRAERSE)
11:15 146 60.0 i ffAe11:15 (RBERE)
12:15 146 60.0 5 FnHR@12:15 (REEREE)
13:15 146 60.0 5 FnHRe13:15 (REERES)
14:20 146 60. 0 i FifA@14:20 (KRPBIERSE)
15:40 146 60. 0 [ FiEA@15:40 (KRPERHE)
23t 1606.0 (11)%) 660. 0 32 FE%EC: 1840.0, PH: 6.1

unusual large postFgEt from yesterday (205), set to 180.0 ml.

HEERECE (2140.0 vs 3110.0) RS
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P3-15

BfiE) | EBIETK FD) | EE (EH/HK) | XK ERE

01:00 120 50.0 1] B31%@01:00 (KRFERE)
02:00 120 50.0 Iz ;Ri&@02:00 (kB{EREEE)
03:00 120 50.0 ] 231%@03:00 (ARFEREE)
07:15 120 50.0 (&= ’R1%@07:15 (RAIERLEE)
09:00 120 50.0 |Z= BR1%@09:00 (KBfERE)
10:20 120 50.0 |Z= B1%010:20 (RFERE)
11:25 120 50.0 i Ri%e11:25 (RAERSE)
12:15 120 50.0 i Ri%@12:15 (KAIERSE)
13:10 120 50.0 A FRi%@13:10 (RAERLSS)
14:05 120 50. 0 5 Bi&e14:05 (KRFEREE)
15:05 120 50.0 i BRi%@15:05 (FKPIERSE)
16:25 120 50.0 R B1%@16:25 (KFEREE)
2it] 1440.0 (12%) 600. 0 3EHKEC: 1895.0, PH: 6.2

TERRHER 2 STEIEARTF (66.0 :

ZRIASEBRIERES0. 0 ml.

50.0), FIEEAAT—@%E X5

large discrepency for begining water status (178:96.0), set to 150.0 ml

HEERECE (2105. 0 vs 2995.0) FiE
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P3-15

BTiE) | EBIATK (FD) | EME (EH/HK) | XKR e

06:40 120 50.0 R 1R1%@06:40 (K FAIEREES)
07:40 120 50.0 (&= BRi&@07:40 (KRF1EREE)
08:40 120 50.0 5 B31%@08:40 (KFERH:E)
10:10 120 50.0 R Bi%@10:10 (FRAERHE)
11:25 120 50.0 i Rige11:25 (KRBAERE)
12:25 120 50.0 i BRig@12:25 (kPB{EREEE)
13:30 120 50.0 5 BRi%@13:30 (kAfEREE)
14:40 120 50.0 |Z= Bi%014:40 (REERSE)
16:10 120 50.0 |Z= B1%016:10 (RFERE)
231+11080.0 (9%) 450.0 323 KEC: 1900.0, PH: 6.0

EER € (120. 0) 5748 (109. 0) R FF

ZRIASLRRIERES5. 0 ml.

1 [ERECE (2145. 0 vs 2800.0) RS

FATREH T % ME#ER S Z XER
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Warning: col ['M_E'] missing
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Warning: col "MW 1] missing
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P3-15

FfiE) | GEBIATI (7)) | EBE (EAH/HK) | XS EFE

06:45 180 50.0 [ B1%@06:45 (KRFERE)
07:30 180 50.0 i B31%@07:30 (KPB{EREE)
08:30 180 50.0 5 B1%@08:30 (KFERE)
09:35 180 50.0 i RR1%@09:35 (K F1ERLEE)
10:40 180 50.0 i B2i1%@10:40 (KRAERE)
11:30 180 50.0 5 Bi%011:30 (RAERSE)
12:10 180 50.0 (5 Ri%@12:10 (RAERSE)
12:50 180 50.0 i BRi%@12:50 (FKPIERSE)
13:35 180 50.0 A RR1%@13:35 (FRAIERLES)
14:15 180 50. 0 5 Bige14:15 (KL
15:00 180 50.0 i BRi%@15:00 (FKPAIERSE)
15:50 180 50.0 R B21%@15:50 (KRFEREE)
2it]2160.0 (12%) 600. 0 3EHKEC: 1560.0, PH: 5.8

R FEBETC (180. 0) 57 #A (106. 0) A 7F

ZRIASCPRIERES5. 0 ml.

[@;&EC 2570.0 K5, ZEiHBIKECAEZ hitRR

FATREH T % ME#ER S Z XER




FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-15_0, Day=5 (2025-04-05)

V1, VEORRV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET | 800
40 4670 T~
59410 - 600 ©
00 450 =
20 38} 400
62 00 Z
- 200 *
Warning: lcol [FVI',| "FVO’'] missing I
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0.4
0.2 A
Warning: lcol ["WC1',  "WC2'] missing
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o5 ] TargetEC=1200.0, TargetSetEC=1560.0 t
0.6 -
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0.2 A
Warning: lcol ['ECB’,| 'ECC’'] missing
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0.2 ~
Warning: lcol ['PHB’,| 'PHC’'] missing
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m=485, FV0=0 m=575, FV0=0 m=630, FV0=0

30. 25
- MNE - MNE —— wE| - MNE
2.5 | 30. 00
29.0 29. 50
29.0
29. 25
28.5 29. 00 4 28.5
T T T T T T T 28 75 B T T T T T T
500 600 700 800 485 490 495 575 580 585 630 635 640
m=690,m FV0=0 m=720,m FV0=0 m=810,m FV0=0 m
—&— M_E | 300 —o— mEe | 2997 —e— MNE
29.0
29.5
28.5
29.0 4
28.0 4
28.5
27.5
T T T T T T T T T T T T
690 695 700 720 725 730 810 815 820 500 600 700 800
m=485,m FV0=0 m=575,m FV0=0 m=630,m FV0=0 m=690,m FV0=0
34.75 +
—— MW | 35, —— MW —— MW —— MW
34. 50
35.0
34.5 - 34.00 -
34.0 7 33.75 4
34.01 33. 50 -
33.5 4
T T T T T T T T 33' 25 B T T T
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P3-15

BfiE) | FEBIETK (FD) | E=E (EH/) | XK R

06:45 210 50.0 (&= BRi%@06:45 (KRF1EREE)
07:45 210 50.0 (&= BRi&@07:45 (kRF1EREEE)
09:40 210 50.0 ] B1%@09:40 (KFERHE)
10:50 210 50.0 ] 21£010:50 (RFERE)
12:00 210 50.0 ] B1%012:00 (KRFEERE)
13:25 210 50. 0 iz Bi1%013:25 (KRFERE)
14:40 210 50.0 |Z= Bi%014:40 (REERSE)
23t]1470.0 (70%) 350.0 ZWHKEC: 1560.0, PH: 5.8

EORFEBETC (210. 0) 5FHA (102. 0) 7

ZRIASLPRIERE103. 0 ml.

[@;%EC 2480.0 K5, ZEiHBIKECAEZ hiERR

FATREH T % ME#ER S Z XER




P3-15_0, Day=4 (2025-04-04)

40 -

20 A

FRV (ml plant-1)

=

. v — M_E

Warning: lcol ["WC1',  "WC2'] missing

TargetEC=1200. 0,  TargetSetEC=1560. 0

Warning: lcol ['ECB’,| 'ECC’'] missing

0.2~

TargetPH=6. 5, TargetSetPH=5. 8

Warning: lcol ['PHB’,| 'PHC’'] missing

950 3

100 A
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P = - ———
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Bylnit @D8 (3:02; ET=245 Fg=400.0 Ro=144.0
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[ ] | _obs
—@— PPFD obs

o T obs
o

To _obs
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[ ] RH_obs
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00 00 L 400 =
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Warning: lcol [FVI',| "FVO’'] missing
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m=485, FV0=0 m=575, FV0=0 m=630, FV0=0
30.5

30.0 - —o— ME —o— ume | 3057 —e— ME
30 -
29.5 30.0 30.0
29.0 -
29 1 29.5 29.5
28.5 -
29.0 -
] 29.0 -
05 28.0
27.5 28.5 -
- MNE 28.5
T T T T T T T T T T T T T T
500 600 700 800 900 485 490 495 575 580 585 630 635 640
m=690,m FV0=0 m=720,m FV0=0 m=810,m FV0=0 m=870,m FV0=0
30.5
- MNE - ME - MNE - MNE
30.0 - 30.0 30.0 -
30.0 -
29.5 - 29.5 1 29.5
29.5 -
29.0 - 29.0 1 29 0 -
29.0 -
28.5 - |
285 - 28.5
28.5 28.0
26,0 28.0
T T T T T T T T T T T T
690 695 700 720 725 730 810 815 820 870 875 880
m m=485,m FV0=0 m=575,m FV0=0 m=630,m FV0=0
34. 25 -
—-— MW 35.5 —-@— MW
34. 00 35.5 -
33.75 4 25,0 35.0
33. 50 - 245 34.5 -
33.25 -
34.0 1 34.0 -
33.00 - F—
T T T T T T T T 33 5 T T T T T T
500 600 700 800 900 485 490 495 575 580 585 630 635 640
m=690,m FV0=0 m=720,m FV0=0 m=810,m FV0=0 m=870,m FV0=0
34. 50 - —o— W¥ | —o— MW —0— MW | 345 —— MW
34.75
34.5
34. 25 - 2450
34.0
33.75 7 34. 00 1 535 -
33.5 :
33. 50 - 23 75 -
33.25 1 33.50 - 33.0 - 33.0 -
690 695 700 720 725 730 810 815 820 870 875 880



